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Multiple Choice

Q. No: 1121345
{a,b,c,d} clald|alb

Q. No: 1 The number z that satisfies the conclusion of the mean value theorem of

f(z) =az, a # 0 on [0,2] is equal to:

Q. No: 2 The sum Y (4k® — 2k) is equal to:
k=1

m)nm+noﬂ+n—n(m%ou4ﬂﬁ+n+n

() 3+ +n+1) (@)

n

4(n+1)(n2+n—1)
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Q. No: 3 If f(z) = x/x cos(v/t)dt, then f’(g) is equal to:
0

cosh(z)

Q. No: 4 The integral / ——— dx is equal to:
sinh® x
1
— b
(a) sinhx+c (®) sinhx+c

(¢)In(sinhx) + ¢ (d)In(coshz) + ¢

3% +2

Q. No: 5 The integral / dz is equal to:

(@hmy+m+c(m9%%;@+c
(¢) (In3)In(3*+2)+c (d) mhi—gz:)—i-c



Full Questions

Question No: 6 [4 marks] Evaluate the integral / dx, where e < 1

1
N

Let u = €”, then du = e*dz, [1]

And we will have

1 du
/\/7— e = /ux/7— u?’ g
= —% sechl(%) + ¢, [1]
= —% sechl(\e/—;) + ¢, [1]
Question No: 7 [4 marks] If f(z) = (cosh™(z) + x2)x2 , then find f'(x)
We have
In f(z) = 2% In (cosh ' (z) + 2?) , [1]
Then
f() - ? d(cosh™" (z) + a?)
f(j) = 2zIn (cosh Ya) + z?) + cosh_lxx) g d; & (1]
_ . 9 z? 1
= 2zIn (cosh™'(z) + 27) + cosh 1 (z) + :c2( o + 2x), [1]
and we will have
f(z) = f(z)(2zIn (cosh™'(z) 4+ 2?) + 711:2 ( ! +21))
cosh™ () + 2?2 2?2 — 1
o2 _ 2 1
= (cosh™'(z) +2%)" (2zIn (cosh ' (z) + 2?) + cosh_lx(x) - 1‘2( —— + 2x)).[1]

d
Question No: 8 [4.5 marks| Evaluate the integral / S
v

, where 0 <z < 1
1 —x)

d
let u = \/x, then du = ﬁ,[l}

[ i = 2 asal

= 2tanh (u) + ¢, [1]
= 2tanh™'(v/z) + c.[1]

And then



1
Question No: 9 [4.5 marks] Evaluate the integral / +—da:
et +e "

1 x
/—da: = /e—dx, 1]
e? 4 e " e +1

Let u = €®, then we have du = e”dz, [1]

And then
e du
= —[1
/ezx_'_ldx /’U,2+1,[]

= tan'(u) + ¢, [1]
= tan (") + ¢.[0.5]

We have

2
1
uestion No: 10 [3 marks| Approximate the integral / ————dx using the Simpson’s rule
Q [ ] App gal | s g p
for a regular partition with n =4
2—-1 1
we have [a,b] = [1,2], then Ax = S 1= 0.25, and g = 1,27 =

1.25, 9 = 1.5, 23 = 1.75, 24 = 2. [1]

Then we can get

2 _
/1 ﬁd w2 (o) + 4 () + 21 () + 4f () + Fla)), 1
N2—1(1+4 ! oty ! +1)[05]
O 3x4VB4+1 0 V341252 V34152 V341752 3422
~ 0.43734.[0.5]



